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QUESTION 1

What can occur when two copies of a signal wave arrive at the receiver at the same time, but 180 degrees out of phase
which each other?

A. Increased signal amplitude

B. Bits may be added to the total count
C. Increased signal strength

D. Signal nulling or cancellation

Correct Answer: D

QUESTION 2

You configured an AP for 802.1X/EAP authentication. You also configured several clients for the same. The clients
cannot authenticate to the WLAN. When you look at the RADIUS server logs, you see that no authentication attempts
have been made. Other services use the same RADIUS server without problems. At what location should you check the
configuration for errors?

A. Clients

B. AP

C. None of these

D. RADIUS Server

Correct Answer: B

QUESTION 3

A user reports that his laptop was rebooted this morning and now he cannot connect to the WLAN. No other users are
reporting connection problems in his work area. No network configuration changes have been made. Which one of the
following is the most likely issue?

A. The driver was updated and the new version is problematic

B. The network SSID has changed

C. Wrong passphrase entered for WPA2 on his laptop

D. The AP is not allowing his laptop onto the network because it was rebooted and the reboot changed the MAC
address

Correct Answer: A
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QUESTION 4

What is used as a mid-span Power over Ethernet (PoE) power source equipment (PSE) device? Select one:
A. Switch

B. Router

C. Controller

D. PoE injector

Correct Answer: D

QUESTION 5

What Windows Command Prompt command may be used to configure wireless settings on Windows computers?
A. TRACERT

B. PING

C. NETSH

D. IPCONFIG

Correct Answer: C
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